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Question Number : 1 Question Id : 70819117044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i x

The period of oscillation of a simple pendulum is T =27 \/_ . Measured value of ‘L' is 1.0 m

from meter scale having a minimum division of 1 mm and time of one complete oscillation is
1.95 s measured from stopwatch of 0.01 s resolution. The percentage error in the determination
of ‘g" will be :

Options :

70819156281, 1-33%

70819156282, 1-03%

e
70819156283, 1-13%

.
70819156284, 1-30%

Question Number : 1 Question Id : 70819117044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819156281, 1-33%

70819156282, 1-03%

o
70819156283. 1.13%

o,
70819156284. 1.30%

Question Number : 2 Question Id : 70819117045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A part:icle is pr::rjected with velm:it}’ Uy a_lnng r-axis. A damping force is acting on the partide
which is proportional to the square of the distance from the origin i.e. ma= axr2. The
distance at which the par'r:ide stops :

Options :
1

2:?.& 2
3a
70819156285.

1
31!,[2], 2
2o
70819156286.




33ﬁﬁ 3
2o
70819156287.

. 1

Zzh 3

3a
70819156288.

Question Number : 2 Question Id : 70819117045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
1

205 |2
3a
1

vz 2
2a
70819156286.

i

33%- 3
2a
70819156287.

70819156285.
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Question Number : 3 Question Id : 70819117046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

70819156288.

A circular hole of radius (—] is cut out of a circular disc of radius “a’ as shown in figure. The

centroid of the remaining circular portion with respect to point ‘O will be :

A Y-axis

Options :

1
—ad
70819156289, ©

5
—a
70819156290, ©

2
—a
70819156291,



10
—a

70819156292, 11

Question Number : 3 Question Id : 70819117046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A Y-axis

Options :

1
—a
70819156289, ©

5
—ad
70819156290.

70819156291,



10
—a

70819156292, 11

Question Number : 4 Question Id : 70819117047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A body weighs 49 N on a spring balance at the north pole. What will be its weight recorded
on the same weighing machine, if it is shifted to the equator ?

GM _
[Use g = R2 = 9.8 ms~ 2 and radius of earth, R = 6400 km.]

Options :

70819156293. TN

70819156294. el

70819156295, 883 N

70819156296. 983 N

Question Number : 4 Question Id : 70819117047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

REIS 67660 69ITY J QNI QI 9@ 994 BRF FAdIgen 49 N 29 | 9T 99Iq QY9 6adlq
dIQI20 @I 6969 697 IR BRF (IUR JRER 9910 897 6R60 629 ?

GM .
(R ¢ = E = 9.8 ms 249" 9891 Qe R = 6400 km.]
Options :



70819156293. AN

70819156294. i

70819156295, 883 N

70819156296. 983 N

Question Number : 5 Question Id : 70819117048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f one mole of an ideal gas at (P,, V,) is allowed to expand reversibly and isothermally
(A to B) its pressure is reduced to one-half of the original pressure (see figure). This is followed
by a constant volume cooling till its pressure is reduced to one-fourth of the initial value
(B — C). Then it is restored to its initial state by a reversible adiabatic compression (C to A).
The net workdone by the gas is equal to :

Options :

RT | In2 :
2(y—1)
70819156297.



RT
i =
70819156208, ~Y D)

70819156299, RTIn 2

70819156300. 0

Question Number : 5 Question Id : 70819117048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

RT | In2 !
2(v-1)
70819156297.



RT
2(y—1)
70819156298.

70819156299, RT In 2

70819156300. 0

Question Number : 6 Question Id : 70819117049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

On the basis of kinetic theory of gases, the gas exerls pressure because its molecules :
Options :

70819156301 contmunuslj,-' lose their energy 11l it reaches wall.

70819156302 continuously stick to the walls of container.

are attracted by the walls of container.
70819156303. .

70819156304 suffer change in momentum when impinge on the walls of container.

Question Number : 6 Question Id : 70819117049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

gYda 9% 9§ 29dIeq, SIS Q1T gedis @82 QR 19Ie B¢ 9 :
Options :

70819156301 @2(@Ia) 6o 9289l ddie RPIee SI6e AT 48 QUG |



70819156302, hlol UR BIEY dIQWEL'C @iEce Wil |

70819156303, AR @lRges el diede el |

70819156304, d°69% dolQelh 6ellble 6LeUEREN AWyl @iEes dwl cliEie |

Question Number : 7 Question Id : 70819117050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
In the given figure, a body of mass M is held between two massless springs, on a smooth

inclined plane. The free ends of the springs are attached to firm supports. If each spring has
spring constant k, the frequency of oscillation of given body is :

Options :

1 k

E‘l‘ Mg sine

70819156305.

1 2k

o Mg sina
70819156306.



1 2k

70819156307 ~™ M
1 [k
Iji 2 .
70819156308. 2w\ 2M

Question Number : 7 Question Id : 70819117050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1 k
27 | Mg sina

70819156305.

1 2k

2 Mg sina
70819156306.



1 2k

27 Y M

70819156307.
II
I_

1 [k
Y 3
70819156308, Vau

Question Number : 8 Question Id : 70819117051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

When a particle executes SHM, the nature of graphical representation of velocity as a function
of displacement is :

Options :
70819156309, Circular

r:-IIiptical
70819156310.

parabolic
70819156311.

straight line
70819156312.

Question Number : 8 Question Id : 70819117051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

64606960 60l REQl dae YIREAIRR 96 (99.99.97]), 9HI9f @8N, YYUER Tee AqdIea
ga6e0a 6RETEa deba IRk AT :
Options :

70819156309, aI@IG!



70819156310, 918 9RIAIA (AWATAIR)

Jeeeda (J61aa)
70819156311.

70819156312. pae

Question Number : 9 Question Id : 70819117052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following equations represents a travelling wave ?

Options :
o " 1 {
20819156313, V= Aercos(wl —0)
'
70819156314, Y= ¢~ (vi+0)
= 7 l 'j
70819156315, V= Asin(15x —21)
70819156316. 7 Asiny cosml

Question Number : 9 Question Id : 70819117052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FE6Q AR AMPRE GFRQ 69R0 661G GF8IR 0ae] Y50 @98 ?
Options :

== X " i
70819156313, V= Aercos(wt — )



' 2
= -1
70819156314, V= A€~ (v 10)

70819156315, ¥ = Asin(15x —21)

708191563 16, V= AASINY coswl

Question Number : 10 Question Id : 70819117053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two electrons each are fixed at a distance “2d". A third charge proton placed at the midpoint
is displaced slightly by a distance x (x << d) perpendicular to the line joining the two fixed
charges. Proton will execute simple harmonic motion having angular frequency :
(m = mass of charged particle)

Options :

1
4 P
2meg J'Hff‘.ﬁ
70819156317.

: i
_2 P
TE md";

1

eqmd’ |2
2:}2

70819156318.

70819156319. (



1

{ZTE[} md” ]E
qZ

Question Number : 10 Question Id : 70819117053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

70819156320.

290 RRRAQ 9920017 24’ YAVIER @ BINK AYILAE | CATNTFR ! ARIPET IRER A
66151 9919 QI 6gIFR] 90 S A°6UIE KA QIR NG GIER ¥ (¥ << d) YRR YBINIQ
6gI0R0 6@60 6RER AUYEER AR AREAIRR, 88 @89 ? (1 = GIRG RERR 98])

Options :

1
5 A
9 2
TEQ md
70819156317.
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_ 2> )2
'TI'E,Dif?’IJiJFEIr
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Question Number : 11 Question Id : 70819117054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Figure shows a circuit that contains four identical resistors with resistance R=2.0 (), two
identical inductors with inductance L=2.0 mH and an ideal battery with emf E=9 V. The
current 1" just after the switch 'S" is closed will be :

i
= R
+ T R g L
E=9 V[ .
R
R
Options :
70819156321, 220 A

70819156322, -0 A

70819156323.

70819156324, 9 A

Question Number : 11 Question Id : 70819117054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819156321, 220 A
70819156322, -0 A
70819156323, 037 A

70819156324, 9 A

Question Number : 12 Question Id : 70819117055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A soft ferromagnetic material is placed in an external magnetic field. The magnetic
domains :

Options :
70819156325 increase in size but no change in orientation.

70819156326. decrease in size and changes orientation.



70819156327, May increase or decrease in size and change its orientation.

70819156328, have no relation with external magnetic field.

Question Number : 12 Question Id : 70819117055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

6EITY PaF 6Rl2 9ARIE CQli] 99 QY 9ARIY cUGER QICIOE | 9AR aaan (69169R)
geaa -
Options :

2IQIe 9FaNM @2 2906 (389684 )6 @8 9feaR 629 AP |
70819156325. :

2IRIe @Hde 9o AgRIRea afiear 6eT |
70819156326.

70819156327, diela @& dindiet @l KFdiee 99° Iwie dqadldate daeq e¥w |

70819156328. QIR QAR 68C 99 66T AA@ K2 |

Question Number : 13 Question Id : 70819117056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Match List - I with List - IL
List -1 List - II
(a) Source of microwave frequency (i) Radioactive decay of nucleus

(b) Source of infrared frequency (i) Magnetron

(c) Source of Gamma Rays (iii) Inmer shell electrons
(d) Source of X-rays (iv) Vibration of atoms and molecules
(v) LASER

(vi) RC circuit
Choose the correct answer from the options given below :

Options :
70819156320, @F(Vi) (B)-(v), ()-(1), (d)-(iv)

70819156330. (a)-(vi), (b)-(iv), (c)-(1), (d)-(v)
70819156331, (@), (B)-(iv), (c)-(1), (d)-(iii)

70819156332. (@)-(ii), (b)-(iv), (c)-(vi), (d)-(iii)

Question Number : 13 Question Id : 70819117056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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(d) 4600 @d (iv) Ceflg 99° 2geean e
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(vij RC g@aa
@CeQ RTUARAL IREFER fg 0Q Reed 9UF @9 :

Options :
70819156329, @F (V) (B)-(v), (€)-(D), (d)-(iv)

70819156330. (a)-(vi), (b)-(iv), (c)-(i), (d)-(v)
70819156331, @)-(i1), (B)-(iv), (c)-(1), (d)-(iii)

70819156332. (@)-(ii), (b)-(iv), (c)-(vi), (d)-(iii)

Question Number : 14 Question Id : 70819117057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the source of light used in a Young's double slit experiment is changed from red to violet :
Options :

70819156333, e fringes will become brighter.

70819156334, conseculive frmge lines will come closer.



70819156335. the intensity of minima will increase.

70819156336, the central bright fringe will become a dark fringe.

Question Number : 14 Question Id : 70819117057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

caIE Y aare §-6a¢IZQ 9aIFIEa QU926 AR AL ARG RG] dAEe QAISRl :
Options :
70819156333, SHUY@ WE@ 621G |

70819156334. diglidig g&-6a6llgyYa @a6'es 6969 |

70819156335, raia G199 Q¥R |

CRQ1E QFG 50 eRIa O celode |
70819156336. g 49 Bl

Question Number : 15 Question Id : 70819117058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An K-ra}-' tube is Dperated at 1.24 million volt. The shortest wavelength of the pmducc-d
photon will be :

Options :

1
70819156337, 107~ nm

2
70819156338, 10 - nm



3
70819156339, 10~ 7 nm

4
70819156340, 10" nm

Question Number : 15 Question Id : 70819117058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1.24 §50Q 6RINCER 66T X-6a §49 QIdY @9UR | UK 62ag9l 6TI0R 9790 ISR oo
codYeee :
Options :

1
70819156337, 10 nm

2
70819156338, 10 - nm

3
70819156339, 10~ 7 nm

4
70819156340, 10 ° nm

Question Number : 16 Question Id : 70819117059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The de Broglie wavelength of a proton and a-particle are equal. The ratio of their velocities
18 :

Options :
70819156341, +:1

70819156342, ++ 2



70819156343, 413

70819156344, 1:4

Question Number : 16 Question Id : 70819117059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

6EIE 1 6916 98° -8RI G-6ol0E e 63dY QAR Z6E | CARIFFE CR6ER ARG 623 :
Options :

70819156341.

70819156342.

70819156343, 413

70819156344, 1:4

Question Number : 17 Question Id : 70819117060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to Bohr atom model, in which of the following transitions will the frequency be
maximum ?
Options :

70819156345, N =2 o n=1

70819156346, D=2 ton=2

n=4 ton=3
70819156347.



70819156343, N2 o n=4

Question Number : 17 Question Id : 70819117060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

6RIPAE TIRNIKRR 6PN 2GAIER 7Y J98 6a% 29MIea (SIFAR)6R QR AR 699 ?
Options :
n=2¢ n=1
70819156345.

n=3¢g n=2
70819156346.

70819156347, =4 @A n=3

70819156348, N0 A n=4

Question Number : 18 Question Id : 70819117061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Zener breakdown occurs in a p —n junction having p and n both :
Options :
70819156349 lightly doped and have narrow depletion layer.

70819156350, lightly doped and have wide depletion layer.

heavily doped and have narrow depletion layer.
70819156351. i i



70819156352 heavily doped and have wide depletion layer.

Question Number : 18 Question Id : 70819117061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

BRI g pP—n @@dRER FEE 6LRALIAR 62RAN EUEOEIER ARG pNL°
Options :

fig 296Rde (eder) 2Rl 99° 29gd 99 (@gaq cadia) 2462l Q@2 |
70819156349, X (ede) (e9ar enaR)

RGPIERME 621R2M 99° AFd 95 BAIRZ QB |
70819156350.

g9 2ERUe 62IRAI 9e° 29dd 9Q AGGARR el |
70819156351.

gQ 296eRUe 62IE2M 99° 2Qdd 9a BGAIR Q@alg |
70819156352.

Question Number : 19 Question Id : 70819117062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : PN junction diodes can be used to function as transistor, simply by
connecting two diodes, back to back, which acts as the base terminal.

Statement 11 :  In the study of transistor, the amplification factor 3 indicates ratio of the
collector current to the base current.

In the light of the above statements, choose the correct answer from the options given below.
Options :
70819156353. Both Statement I and Statement 11 are true



70819156354 Both Statement | and Statement Il are false

70819156355, Statement 1 is true but Statement 1l is false

70819156356, Statement 1 is false but Statement Il is true

Question Number : 19 Question Id : 70819117062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@Eee Q60 RE YuF -

aa 1 : QR0 GI96eIq 089 08 eald @f, Al 69q ¢frk @@ @Ia @fare, PN 998
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Options :

AP0 @ 1 99° @@ 11 994 269 |
70819156353.

70819156354, 2o @@ 1 <" @@ 11 @2l Fes |

o2 10 0Q 2ee @2 @@ 11 § fav 26e |

Pg]

70819156355.

20819156356, °® 16 @R @3 @9 11 & 904 266 |

Question Number : 20 Question Id : 70819117063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The logic circuit shown above is equivalent to :

Options :

I .

70819156357. B"_[:”O_DD_O -
AD_E}D_DD—OC

70819156358, DO

Aoy o
70819156359, B ° |

70819156360.

Question Number : 20 Question Id : 70819117063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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B

RU6R 96191909 AP afadfa A9 2ag --

Options :



|
I

70819156357. B )

Ao—{>0—

B o———

70819156358.

Ao— >0

Boe

T

70819156359.

= >
]

70819156360.
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Two solids A and B of mass 1 kg and 2 kg respective-l}-' are moving with equal linear

A
momentum. The ratio of their kinetic energies (K.E.), : (K.E.); will be 1% the value of

A will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 21 Question Id : 70819117064 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

QAR CRYR Q626 AL KAREA 1kg 1e° 2kg 99Q 989 99 Q0@ daid A 9 B 60 @988 |

" ST A
4% 6aMIAGA 60R 699 2RAI9 (KE), : (KE)p= T, 6969 A Q Ay 629 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 22 Question Id : 70819117065 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A uniform metallic wire is elongated by 0.04 m when subjected to a linear force F. The
elongation, if its length and diameter is doubled and subjected to the same force will be
CIm.



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 22 Question Id : 70819117065 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6EIE AR 2GS GINER ELEEER U@ AEadY @@ F aaidrg, €2l 0.04 m 9aIfie caieeld | 98
9919 AF 6 9Yd] QAgdl @6 6QF YRl 9@ gee AL, 6069 YRIa gAfe c@dYy 629

cm |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 23 Question Id : 70819117066 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A uniform thin bar of mass 6 kg and length 2.4 meter is bent to make an equilateral hexagon.

The moment of inertia about an axis passing through the centre of mass and perpendicular
to the plane of hexagon is X100 " kg m,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5t05.001

Question Number : 23 Question Id : 70819117066 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6 kg @2Q 6 2.4 {icQ cody @348 6aIfY R ANRE] IR T ULYRER UROe A9l Al AT
ARl | SO9EN ANGRG A SINER IR 92Q 69 699 ARSI Y@ AW KIS 214 @09
6268 x10~1 kg m? |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 24 Question Id : 70819117067 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The root mean square speed of molecules of a given mass of a gas at 27°C and 1 atmosphere
pressure is 200 ms !, The root mean square speed of molecules of the gas at 127°C and

1) _
2 atmosphere pressure is — ms 1. The value of x will be

\E
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 24 Question Id : 70819117067 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

27°C QIFEIgI 99° 1 QIGAERIE CIU6a 89l @R 93q 99 1@ NI ZEa AI-96 Qdqe 696
200 ms~! 26¢ | 127°C QIQFIGI ¥9° 2 AGASRNE GIT6R a9 NI 2Uga FAk-9d Q6qe 696

% ms~1 268 | x FaY 629 |
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819117068 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Two cars are approaching each other at an equal speed of 7.2 km/hr. When they see each

other, both blow horns having frequency of 676 Hz. The beat frequency heard by each driver
will be Hz. [Velocity of sound in air is 340 m/s.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819117068 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



QR0 FQ AAIe 6296 7.2 km/hr 62 Q4R BIPR dF RG2S | 6UCEERER 6AFIER JRUOT CadeR,
Qe 676 Hz 2IQ9E QR 94 99IR6R | a0 gI9eR §¢ael Ie-2198 699 Hz |

(QIg6ea 900 696 340 m/s 269)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 26 Question Id : 70819117069 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A point charge of +12 uC is at a distance 6 cm vertically above the centre of a square of side

12 cm as shown in fi%ure. The magnitude of the electric flux through the square will be
x 10° Nm?/C.

+q

%
)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 26 Question Id : 70819117069 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

596a @99 2FAIER, 68IE 12 cm A9 IR QEINQ TR 68L0I] AU BIER 6 cm
Q00168 +12 uC 6If 398 W@ OIF @ERI 6RE | AEIRIA 699 Fil 62R IRV IR gQ 629
% 10° Nm?2/C |

*+g

55
2,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 27 Question Id : 70819117070 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A cylindrical wire of radius 0.5 mm and conductivity 5x 107 S/m is subjected to an electric
field of 10 mV/m. The expected value of current in the wire will be 2 mA. The value of x
15

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 27 Question Id : 70819117070 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.5 mm QUQE 38 5x107 S/m GGG gl Y@ AALFYRINIA 910] 10 mV/m 8 9@ IR
6QQ6Q g69d QRIgRI | GIRFe QIR 60 2GR RN 629 it mA | x @ faY 626R
I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 28 Question Id : 70819117071 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A series LCR circuit is designed to resonate at an angular frequency w,= 10° rad/s. The
circuit draws 16 W power from 120 V source at resonance. The value of resistance ‘R’ in the
circuit is (1.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 28 Question Id : 70819117071 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6@ 28 w,=10° rad/s 60 AFFD 623 dIR 99 68416 I°ge LCR afae g2 Qaiasl |
2eele(fewIflg) Angen aaaat 120 V eaiR, 999 16 @99 aI@ia c1dard | adaadea R @
fRueeQ QO |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819117072 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An electromagnetic wave of frequency 3 GHz enters a dielectric medium of relative electric
permittivity 2.25 from vacuum. The wavelength of this wave in that medium will be
x10~2 cm.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819117072 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



3 GHz 2198 982 9@ Q49 -gA1d 096 §ARIeg ZIcade @Q1edinel 2.25 44 9@ daledioe
AIIEQ g69d @98 | 6929 ARINTER 48 Caata o a4y 629 %102 cm |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 30 Question Id : 70819117073 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A signal of 0.1 kW is transmitted in a cable. The attenuation of cable is —5 dB per km and
cable length is 20 km. The power received at receiver is 10~ * W. The value of x is

[Gain in dB=10 Iogm[ ]

P, )
Fi )
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 30 Question Id : 70819117073 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



661G 629w E6a 0.1 @ERIGIC P98 9@ I6R0(denIn) ABI0d QAUIGE | CRIREa A4 (2I6e6gdR )
@eqifica dgl —5 dB 49° 6a9Aa 6@dY 20 km 6S | ARGIY1 Ol6R F24 @92l UGG 62
107F @9 | x @ ¢)mY 265 ___ ]

>~ P,
[dB 62 @& =10 Ingm[F—”]]
]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Chemistry Section A
Section Id : 708191678
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191958
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819117074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



According to Bohr's atomic theory :

2
(A) Kinetic energy of electron is o Z_

112

(B) The product of velocity (v) of electron and principal quantum number (n),
‘v x 72,

3
(C) Frequency of revolution of electron in an orbit is = Z_,i
n

3

(D) Coulombic force of attraction on the electron is = —-
n

Choose the most appropriate answer from the options given below :
Options :
70819156371, (A)- (€) and (D) only

70819156372, (AA) and (D) only

70819156373, (€) only

70819156374, (44 only

Question Number : 31 Question Id : 70819117074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



ERISOE JefEae dRI] AQUIER :

2
(A) QERP G0 96 98 o Z—.

n2

(B) GEME QR TEIERE 99° (& QIEF eI QEaTe ‘v = Z2,

i
(C) 4@ QIEH AR, AR AL ARG = %
L
2 : 73
(D) S6RQREA QAR AREE 9@ o« .
n

Q6T 1RF RUYS AT §¢ g UL :
Options :

qoe : )
70819156371, () (€) 967 (D) Q9%

19" ama e
70819156372, A2) 997 (D) 669G

70819156373, (©) 6@9w

70819156374, () 689

Question Number : 32 Question Id : 70819117075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct shape and I-1—-1bond angles respectivel}r in I; ion are :

Options :

70819156375, Linear; 180°



3 3 . : 5 '1 O 0
70819156376, Distorted trigonal planar; 135" and 90

70819156377, 1-shaped; 180" and 90°

Trigonal planar; 120°
70819156378.

Question Number : 32 Question Id : 70819117075 Question Type
Correct Marks : 4 Wrong Marks : 1

I,7 29960 249 20 26 9e° [-1-1 986wl Q2IRER

Options :

70819156375, CoE@; 180°

‘:\'-I_\!., iy 14 I;'l"i |:::-|.Jﬂ'!L 3-_, Ay o
70819156376, ° e Sle6elfim Gi@iey; 1357 9@° 90

70819156377, I- 2I@IG; 180° 9&* 90°

TlE 1 | 1y 0
70819156378, © BEEIFIE, Gleia; 120

Question Number : 33 Question Id : 70819117076 Question Type
Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : Yes Is Question Mandatory : No

: MCQ Option Shuffling : Yes Is Question Mandatory : No

Most suitable salt which can be used for efficient clotting of blood will be :

Options :

NaHCO,
70819156379, :

70819156380, V18HC0O3)2



70819156381, FC13

70819156382, 104

Question Number : 33 Question Id : 70819117076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

dwde Q9 dalgy d @ IR 6RR2Q QEQ @8 @QUedlE @4 -
Options :

NaHCO;4
70819156379. :

70819156380, MB(HCO3)2

70819156381, © °Cl

70819156382, 16001

Question Number : 34 Question Id : 70819117077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct set from the following in which both pairs are in correct order of melting point
is :

Options :
70819156383, L1 > LiF; MgO > NaCl

70819156384, HF > LiCl; MgO > NaCl



70819156385, HC1 > LiF ; NaCl > MgO

LiF > Li(1 ; NaCl > MgO
70819156386.

Question Number : 34 Question Id : 70819117077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Q6qIe Aug A0 696 6ULA6R @ElE 6QI9IR SRFIE A0 |6 28, 6998 :

Options :

70819156383, HCL > LiF ; MgO > NaCl

70819156384, LiF > LiCl; MgO > NaCl

20819156385, HCL > LiF ; NaCl > MgO

LiF > Li(1 ; NaCl > MgO
70819156386.

Question Number : 35 Question Id : 70819117078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - IL

List - 1 List - 11
(Metal) (Ores)
(a) Aluminium (i)  Siderite
(b) Iron (ii) Calamine
(c) Copper (iif) Kaolinite
(d) Zinc (iv) Malachite

Choose the correct answer from the options given below :



Options :
70819156387, @)-(1), (b)-(ii), (c)-(iii), (d)-(iv)

70819156388, @) (1), (b)-(iii), (c)-(ii), (d)-(i)
70819156389, (@)-(i), (b)-(iv), (c)-(1), (d)-(iii)

70819156390, (@)-(1i), (b)-(i), (c)-(iv), (d)-(ii)

Question Number : 35 Question Id : 70819117078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Q- 1 92 cInel-II 912 :

SIael - 1 == ||
(Metal) (Ores)
(a) eaRdcFaa (i) dLELADS
(b) 2LRG. (ii) SIS,
(c) o8 (iii) SIERFIGE
(d) @ (iv) ¢RI
G609 Gag g A0q Aeedq Qg :
Options :

70819156387, (@)-(1), (b)-(ii), (c)-(iii), (d)-(iv)
70819156388, @) (1), (b)-(iii), (c)-(ii), (d)-(i)

70819156389, (@)-(i), (b)-(iv), (c)-(1), (d)-(iii)



70819156390, (@)-(1i), (b)-(i), (c)~(iv), (d)-(ii)

Question Number : 36 Question Id : 70819117079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : Hydrogen is the most abundant element in the Universe, but it is not the
most abundant gas in the troposphere.
Reason R : Hydrogen is the lightest element.

In the light of the above statements, choose the correct answer from the options given
below :

Options :
70819156391. Both A and R are true and R is the correct explanation of A

70819156392, Both A and R are true but R is NOT the correct explanation of A

70819156393, ‘v 18 true but R is false

70819156394, A\ 18 false but R is true

Question Number : 36 Question Id : 70819117079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@E60 990 OF QEUIKILE | 6RITT cRIFEI A 9e° 29 QI8 R 8I6R 06 @IKIRg :

6™ A : 2I06QI69E 9g6a AR fg29 6AFe @2 w9l g6aIdansn AN FQaal
QI Q6% |
@Ied R : DERIERR 90 Y@ ARG |

ROERI9 990 agaea [ Sag Audg 209 @eed QL :



Options :

qar & 1 GIg ] :‘_" Y|y |
70819156391, A 99° R el 4ol 09° A @ dO0x Qs R

A 99° R @910 994 @2 A @ 90R QuIell R Q6%
70819156392. = =

70819156393, A 9t @o R 2dey

70819156394, A 9L @3 R Qe

Question Number : 37 Question Id : 70819117080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - IL

List - 1 List - 11
(Salt) (Flame colour wavelength)
(a) LiCl (1) 455.5 nm
(b) NaCl (i) 670.8 nm
(c) RbCl (i) 780.0 nm
(d) GsCl (iv) 589.2 nm

Choose the correct answer from the options given below :
Options :
70819156395, (@ (Iv), (b}-(id), (c)-(iii), (d)-(i)

70819156396, (@)-(i1), (B)(iv), (c)-(iii), (d)-(3)
70819156397, @)@, (0)-(v), (c)-(ii), (d)-(iii)

70819156398, (@)-(1), (b)-(1), (c)-(iv), (d)-(iii)



Question Number : 37 Question Id : 70819117080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

IR -1 980 IR - II 9121 :

QIERl - 1 SIa@l - 11
(@24) (8isll Qe oo sady)
(a) LiCl {iy 455.5 nm
(b) NaCl (ii) 670.8 nm
(c) RbCl (ii)  780.0 nm
(d) CsCl (iv) 589.2 nm

&6 goe 9Req 09 @eed Qg :
Options :
70819156395, (@) (Iv), (b)-(i), (c)-(iii), (d)-(i)

70819156396, (@)-(i1), (b)-(iv), (c)-(iii), (d)-(i)
70819156397, @), ©)-v), (€)-(i), (d)-(ii)

70819156398, @)-(11), (b)-(1), (c)-(iv), (d)-(iii)

Question Number : 38 Question Id : 70819117081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The incorrect statement among the following is :
Options :

70819156399, ¥ 0904 15 a reducing agent



70819156400, W4 18 an oxidizing agent

70819156401. CryO; is an amphoteric oxide

70819156400 Red colour of ruby is due to the presence of Co®*

Question Number : 38 Question Id : 70819117081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FEQI@ Fag Ym 9968 6208 -

Options :
VOS0, caigg aeee

70819156399, . Slsish

Na[[aN Rallals
70819156400 U0y 6616 @16

70819156401, CT2C3 BRI ERIGE

3 t HH- ‘:\'-I & = Ty
70819156402, CO~ QUHCER GIQ Qgl QG

Question Number : 39 Question Id : 70819117082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
What is the correct order of the following elements with respect to their density ?
Options :
70819156403, < <Fe<Co<Cu<Zn

70819156404, Zn < Cr < Fe < Co < Cu



70819156405, Zn <Cu<Co<Fe<Cr

70819156406. Cr < Zn < Co < Cu < Fe

Question Number : 39 Question Id : 70819117082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

{‘3({] gue Sl ﬂ@h’-.‘-ﬂ‘-! QGQ; ﬁﬂ@ AR ARG BAgdEa @d ?
Options :

70819156403, CT <Fe<Co<Cu<Zn

70819156404, Zn < Cr < Fe < Co < Cu

70819156405, Zn <Cu<Co<Fe<Cr

70819156406. Cr < Zn < Co <Cu < Fe

Question Number : 40 Question Id : 70819117083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The calculated magnetic moments (spin only value) for species [Fe(l, Iz =, [Co(C;04)s I;; e

and ["».lnf.]i'_ respectively are :
Options :

70819156407, 490, 0 and 1.73 BM

70819156408, 292, 4.90 and 0 BM

70819156409, 2-82, 0 and 0 BM



70819156410, +90, 0 and 2.83 BM

Question Number : 40 Question Id : 70819117083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[FeCly 2, [Co(C,04); P~ <@ MnO,*” 9160 B Gaiamaal gaama 2199 (3R Aig
clRY) Q2IREE 6208 -

Options :

70819156407, +90, 0 9@° 1.73 BM

20819156408, 2-92 4.90 ¥&° 0 BM

70819156409, 282, 0 9&" 0 BM

70819156410, +90, 0 9e” 2.83 BM

Question Number : 41 Question Id : 70819117084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : The value of the parameter “Biochemical Oxygen Demand (BOD)" is
important for survival of aquatic life.

Statement Il : The optimum value of BOD is 6.5 ppm.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819156411, Both Statement I and Statement 1I are true



70819156412. Both Statement | and Statement Il are false

70819156413 Statement 1 is true but Statement 1l is false

70819156414 Statement | is false but Statement 1l is true

Question Number : 41 Question Id : 70819117084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

P6@ QEF 998 QUG :

QA 1: RPR AIRER #1967 UIed &69l Al (BOD) arificas g aeqgd
QG II: BOD @ Q6RI9 a4 6.5 ppm.

U6RI8 I8 BQQAIEa F67I@ Fklg A0R Q60T UL

Options :
20819156411, e 199° QQ@l 11 @9d Qe

Gy ao® SI06) S # I
70819156412, Gﬁﬁﬁll e ‘E'EBEI 11 ekl 2y

a9a I aoy @9 9@ II age
70819156413, o e 1 964 @3 Q9@ 11 896!

70819156414, © %t 1 TQ6Y &g @@ 11 Q6

Question Number : 42 Question Id : 70819117085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The diazonium salt of which of the following compounds will form a coloured dye on reaction
with -Naphthol in NaOH ?



Options :

o
70819156415.

: ,CHEMH2
70819156416.

CHj,

70819156417.

N—CHj

2

70819156418.

Question Number : 42 Question Id : 70819117085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

S0RYe fue 6ea 6@ 9Een GIaseIFaR Aed NaOH 66 29 a6l ATl 986 goaal «f
AENE Q@ 08 F6a ?

Options :

70819156415.



: ,(IHENHE
70819156416.

CI—I3

Question Number : 43 Question Id : 70819117086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

70819156417.

70819156418.

Which one of the following compounds is non-aromatic ?

(]

70819156419, O

Options :

@

70819156420. ¥

70819156421. :



70819156422. I I I

Question Number : 43 Question Id : 70819117086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(]

70819156419, O

Options :

70819156420.

®

®
70819156421. :
70819156422. I I I

Question Number : 44 Question Id : 70819117087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following carbonyl compounds cannot be prepared by addition of water
on an alkyne in the presence of HgSO, and H,50, ?

Options :



O
|

70819156423, s~ ¢ H
;
|
—c—CH-CH
70819156424, <1137 € 2113

i

O
I
CH;—CH,—C—H

70819156425.

70819156426.

Question Number : 44 Question Id : 70819117087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

HgS0, 19° H,50, addteq 2InRIaqss @7 9199 9ol 666 Q69156 68 gee @f 629

Q% 7

Options :
i
70819156423, CHa~C—H
O

i
—C—CH,CH
70819156424, <1137 € 2113

O

|

70819156425.



O

Il
CH;—-CH,-C—H
70819156426. g =

Question Number : 45 Question Id : 70819117088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct order of the following compounds showing increasing tendency towards
nucleophilic substitution reaction is :

Cl Cl Cl cl
NO,  NO; NO,
(1) (i) (i) (iv)

Options :

70819156427, V) < (i) < (i) < (i

70819156428, (1¥) < (1) < (iii) < (ii)
70819156429, (1) < (i) < (ii) < (iv)

70819156430, V) < (1) < (i) < (ii)

Question Number : 45 Question Id : 70819117088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



GRye slfegfen Fafedna goene godaEe 980 g9E cedeael a0e AT 6298 :

Gl Cl Cl Cl
NO; O,N NO,
NO, NO, NO,
(i) (i) (i) (iv)

Options :

70819156427, V) < (i) < (i) < (i)

70819156428, (V) < (1) < (iif) < (ii)
70819156429, (@) < (i) < (iii) < (iv)
(iv) < (i) < (ii) < (iii)

70819156430.

Question Number : 46 Question Id : 70819117089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

O

Which of the foIIr:rwﬂ‘lg reagent is suitable for the preparation of the pmduct in the above
reaction ?

Options :



NaBH,
70819156431.

= RiF]
70819156432, V2 ~NHy/CH50Na

70819156433, /T2

Red P +Cl,
70819156434, 2

Question Number : 46 Question Id : 70819117089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

O

QU6AI9 QY9 996 RA9 JIp P9 Re 28e7e Qaeig ?

Options :

NaBH,
70819156431

e @
70819156432, [NHa ~NH,/CH5;0Na

70819156433, N/ Ha

70819156434, ed PHCly



Question Number : 47 Question Id : 70819117090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct sequence of reagents used for converting nitrobenzene into
mi-dibromobenzene ?

NO;, Br
- o L -
Br
Options :
Sn/HCI / KBr / Br, / H+
- o - -
70819156435.
NaNO, / HCl / KBr / H
- - - -
70819156436.
Sn/HCI / Bry / NaNO, NaBr
—_—
70819156437.
Br,/Fe ,/E“f”u../ NaNO,/HClI ;/CuBr,f’HBr i
70819156438.

Question Number : 47 Question Id : 70819117090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



RIE68169HRR 6F01GIRN6TIEAICRSHRER TR0 REQl OIR IR0 2R F 2RI FIFER 2AFRNT
@€ ?

NO, Br

Br
Sn/HCI / KBr / Br, / H+
J-— r - r
NaNO, / HCl / KBr / H*
: r r .

Sn/HCI / Br, / NaNO, / NaBr
- 5o - -

Options :

70819156435.

70819156436.

70819156437.

Br,/Fe F/Snﬂ 1L11-/ NaNO,/HClI ;/CuBr;'HBr e
70819156438.

Question Number : 48 Question Id : 70819117091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In polymer Buna-5 : °S’ stands for :

Options :

70819156439, SUlphur



70819156440, >trength

70819156441, “tYrene

Su Iphnnatinn
70819156442,

Question Number : 48 Question Id : 70819117091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2f¢ee Buna-S 68 ‘S’a ¢l6q :

Options :

70819156439, HEEL

ey
|u£:|_"|:|

70819156440.

70819156441.

dRETICRLR
70819156442.

Question Number : 49 Question Id : 70819117092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Match List - I and List - 11.
List - 1 List - 11
i)  Antifertility drug
ii) Pernicious anaemia

(a) Valium

(b) Morphine

(c) Norethindrone
(d) Vitamin B,

iii) Analgesic
iv) Tranquilizer



Options :
70819156443, (@)-(1), (b)-(iii), (c)-(iv), (d)-(i1)

70819156444, (@)-(1v), (b)-(iii), (c)-(i1), (d)-(i)
70819156445, (@)-(1v), (b)-(iii), (c)-(i), (d)-(ii)
70819156446, @)(H), (b)-(iv), (c)-(iii), (d)-(i)

Question Number : 49 Question Id : 70819117092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

IAR -1 @ QIR - I 9Ge Fqia -
IR - 1 IRl - 11

(a) SURGAA (i) oo 48 919 Gy
(b) QTS (i) SO VNG

(c) eQaeale (iii) YRIRERER

(d) @eIde By, (iv) QISiREee

Options :

70819156443, (@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)
70819156444, (@)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
70819156445, (@)-(1v), (b)-(itl), (c)-(1), (d)-(ii)

70819156446, @(L), (b)-(iv), (c)-(ii), (d)-(i)



Question Number : 50 Question Id : 70819117093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - 1 and List - IL

List - 1 List - 11
O
|
(a) R—C—-Cl -R—CHO (i  Br,/NaOH
(b) R—CH;—COOH — R—t:l“_} 1 - COOH (i) H,/Pd—-BaSO,
Cl
O
I
(c) R—C—-NH; =+ R-NH; (iif) Zn(Hg)/Conc. HC1
O
|

Choose the correct answer from the options given below :

Options :
70819156447, (@)-(11), (b)-(iv), (c)-(1), (d)-(ii)

70819156448, (@)-(1i), (b)~(i), (c)-(iv), (d)-(ii)
70819156449, @)-(i), (b)-(1), (c)-(iv), (d)-(iii)

20819156450, @), (B)-(iv), (c)-(i), (d)-(ii)

Question Number : 50 Question Id : 70819117093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
IRl -1 § eIRS! - 11 986 a1 :

IRl - 1
0
1]
(a) R ] =sR_CHO

()  R—CHp~COOH —R—CH~COOH
al

O
Il
(0 R—C—NH,—R-NH,

O
Il
(d R—C-CH3 - R-CH,—CH;4

@EORge 9ag fig 90] 2896 QI :
Options :
70819156447, (@)-(ii), (b)-(iv), (c)-(1), (d)-(ii)

70819156448, (@) (i), (b)-(i), (c)-(iv), (d)-(ii)
70819156449, (@)-(1), (b)-(1), (€)-(iv), (d)-(ii1)

70819156450, @ (1), (b)-(1v), (c)-(1), (d)-(iii)

(1)

eIEal - 11

Br,/NaOH

H,/Pd—Ba50,

Zn(Hg)/Conc. HCI

Cl,/Red P, H,0



Chemistry Section B

Section Id : 708191679
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191959
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819117094 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The formula of a gaseous hydrocarbon which requires 6 times of its own volume of D for
complete oxidation and pmduceq 4 times its own volume of CO, is C, I—I The value of Iy is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 51 Question Id : 70819117094 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

g4 9104 Qg q 2A0FR 22 g4 AF6HR UMD AF (e 200 CIRgE AR CIRZYILE, AR
RQA%l YIREEIRIGR GUQAR I°CRET 6208 CIHH yQeaueees



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819117095 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The volume occupied by 4.75 g of acetylene gas at 50°C and 740 mmHg pressure is
L. (Rounded off to the nearest integer)

[Given R=0.0826 L atm K~ ! mol ~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819117095 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

475 gIfl 995Ra 50 @1 6d46ge FIUAIQIER 99° dIF &%

ZIPOF REE6ER 6eRg (Fmoen gd Q°aMes d8de «a)

[g9@: R=0.0826 L atm K~ ! mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5t05.001

Question Number : 53 Question Id : 70819117096 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Assuming ideal behaviour, the magnitude of log K for the following reaction at 25°C is
xx107 1, The value of x is . (Integer answer)

3HC = CH g =—=C¢Hyy

[Given : A /G°(HC=CH)= —2.04X 10° ] mol~1; AG(CgHg)= —1.24 X 10° ] mol™1;
R=8314 ] K~ mol™7] "

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 53 Question Id : 70819117096 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2196 MILINg 96 @ 25°C 68 @¢ 9oFAea log K afnd 6298 xx10~1 | x @ gmy
62Q8 (gdacen @eq)
SHC=CHy—— CeHegy
[g98: AG°(HC=CH)=—204x10°Jmol~!; AG*(C;Hg)= —124x10° T mol ! ; R=8314
] K= 1mgl 1] i

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range
Text Areas : PlainText



Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819117097 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CgHg, freezes at 5.5°C. The temperature at which a solution of 10 g of C;H,, in 200 g of C H
freeze is __°C. (The molal freezing point depression constant of C H, is

5.12°C/m.)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819117097 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6RER 5.5° 6Q46GE60 @Raad 849 | 200 gIf 69&R6a 10 gIf| QU69R &9l @948 YRQd 699

e

__°C | (69899 AR O 994 G6gd9q e 5.12°C/m)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819117098 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The solubility product of Pbl, is 8.0 10 ?. The solubility of lead iodide in 0.1 molar solution
of lead nitrate is x x 10~ mol/L. The value of x is . (Rounded off to the nearest
integer)

|Given \/T = 141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819117098 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

PbL, @ @941a6l g&aq 8.0x10~710.1 6a1RI9 6RE6, FIBIEEE Q9660 676, UIRNGLINER YIENAQ
69928 xx10"®mol/L | x @ fa4 €2Q8 (Faceq g4 aeniea afide @q)

[g9a: 2 =141]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
5t05.001

Question Number : 56 Question Id : 70819117099 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The magnitude of the change in oxidising power of the MnO}/Mn =t couple is xx 1071V,

if the H* concentration is decreased from 1 M to 10~ 4 M at 25°C. (Assume concentration of

MnO, and Mn?" to be same on change in H" concentration). The value of x is

(Rounded off to the nearest integer)
3 2303 RT
|:{_1'ivfrn - ¥ = []_[159]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 56 Question Id : 70819117099 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n-IIﬂ?;;h-In"-* QEa FI9d FAG A6eaea Q8¢ 2a8 xx10-4V | 9§ 25° cad6geee
216LIEEaa dlgel 1M g 1071 Mg «fdd 1@ ey 6208 | (Feceq gdasayen
A0Ee @9 )

(219601680 2198 FIeel 9896868 MnO,” 99° N2t @ S0l Q7R 994 /Q)
4 Mn

' 2.303RT
[g@a M atai i O {].{159]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 57 Question Id : 70819117100 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sucrose hydrolyses in acid solution into glucose and fructose following first order rate law
with a half-life of 3.33 h at 25°C. After 9 h, the fraction of sucrose remaining is . The value

1
of Ingm[?] is %1072, (Rounded off to the nearest integer)

[Assume : In 10=2.303, In 2=0.693]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 57 Question Id : 70819117100 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

J6QI9 21D @946a 25°C 60 9af QAgIQ Faf 2ded 9F @F AAER 6 g6le 99°
s . . i . 1
J6q9q FaT0 29 261g 3.33 h Q20 | 9 A9l 06R 2AY §6RITER Agr e 6ead f| Ingm[F] a

elal x10~2 (Facen gd @ay)
[g2d @8 In 10=2.303, In 2=0.693]
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range



Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819117101 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Among the following allotropic forms of sulphur, the number of allotropic forms, which will
show paramagnetism is _

(A) a-sulphur (B) p-sulphur (C) S,-form

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819117101 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

G66Q 29 dATae 2UQ 90 G ULEARID G4 CRURI AU Qaa A°HY 62ad

(A) «-9Rge (B) B-9mge (C) S,form

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 59 Question Id : 70819117102 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of amines among the following which can be synthesized by Gabriel
synthesis is

CH3z
CHs

CHy—NH> NH»
o Y o 7

Response Type : Numeric

CH—CHp—NH» (B) CH,CH,NH,

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 59 Question Id : 70819117102 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

GelaYe 6dld@ gE@a 99, 644 Qe AYe ERRl ANew A ¢y Lad

[ - P
CH—CH»—NH
CH3> 2 2 (B) CHHCH?_NHZ

CHy»—NH» NH2
© ©/ (D) ©/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 60 Question Id : 70819117103 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 g of aniline completely reacts to form acetanilide. 10% of the product is lost durmﬁ
purification. Amount of acetanilide obtained after purification (in g) is x 1074

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 60 Question Id : 70819117103 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 Qifl 2IFRa 94 90Eal @8 W@efRIee f0F @6a | g4er G998 R096a 99 9oael a9
6RIRANM | @98 g6a f@aal YACIFRIaea dadd (9F6a) caag x10-2

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.001



Mathematics Section A

Section Id : 708191680
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191960
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819117104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, beR. If the mirror image of the point P(a, 6, 9) with respect to the line

= = = 9 is (20, b, —a—9), then |a+Db] is equal to :

! |
o

Options :
70819156461, 54

70819156462, 56

70819156463, 58

70819156464. 20

Question Number : 61 Question Id : 70819117104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



i - X 3 z 1
(6R@Q a, b eR (@129 aul)l 9@ P(a, 6, 9) Gga —— = =~ ©o¢l A 6ea

L
o

goRag (20, b, —a—9) 26E, 6062 |a+b| QIR :
Options :
70819156461, 54

70819156462, 56

70819156463, 58

70819156464. 920

Question Number : 62 Question Id : 70819117105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, b, ¢ be in arithmetic progression. Let the centroid of the triangle with vertices

(a, c), (2, b) and (a, b) be [%{] %J If ., 3 are the roots of the equation ar2+bx+1=0, then

the value of a2+ B2—ap is :

Options :
69
70819156465, 220
i
70819156466, 220
69
256

70819156467.



7
70819156468. 256

Question Number : 62 Question Id : 70819117105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

" _ P o O L
CI6R@R a, b, c 9@ AR (9e8) 6§416a Qe8 | 9aa (?, %J g6, 9@ Gee QLIQ ad g
(a, ¢), (2, b) 9&° (a, b) 01R 56T (69996) | 98 o, B, TS ANRAE ax*+bx+1=0 @ QaF
R(F)@) 223, 6069 o> +p%—ap @ @Y 26E :

- B

Options :
69
70819156465, 220
71
70819156466, 220
69
70819156467, 220
By |
70819156468, =20

Question Number : 63 Question Id : 70819117106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



If Pis a point on the parabola y=13+4 which is closest to the straight line y=4x —1, then
the co-ordinates of P are :

Options :

(3, 13)
70819156469

70819156470. (2 8)

70819156471.

70819156472, 1r 2)

Question Number : 63 Question Id : 70819117106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A9 QIRIERIR y=2>+4 QU6Q P 9@ §g 29 1I9R 9eR6adl, y=4x—1 Q QGac, 6069 P 998
AR
Options :

(3, 13)
70819156469,

70819156470.
70819156471.

70819156472

Question Number : 64 Question Id : 70819117107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



For which of the following curves, the line x ﬁy — 23 is the tangent at the point

W3 1
2 " 2]?
Options :

70819156473.

X
70819156474.

2x2 — 183,-2 =0
70819156476.

Question Number : 64 Question Id : 70819117107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

R o « [ 33 1] ' ,
QERGY 669 YREQS iR, (T\/{_, E} QER, dalw 608l x + 3y = 2\(@ deal@ ek 7
Options :
xz+y2=?
70819156473.
xz+9y2=9
70819156474.
7 ix
W &3

70819156475.



2x2—18y?=9
70819156476.

Question Number : 65 Question Id : 70819117108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3

The value of the integral, j[xz 2x —2]dx, where [x] denotes the greatest integer less than
1

or equal to x, is :

Options :

70819156477, >

70819156478,
70819156479, V2 -3 -1
70819156480. V2 -3 11

Question Number : 65 Question Id : 70819117108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3

‘[[:L-E 2x—2]dx @ €@ 26T

1

([x] & 2el x 9@ gdaren Q9 x 0Ig AIF QI x Q2 AR )
Options :

70819156477, °



-4

70819156478.
g
70819156479. V{: ﬁ .
2 5
70819156480. J_ \/_ i

Question Number : 66 Question Id : 70819117109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The negation of the statement
~pa(pvq)is:
Options :
70819156481, ~ P

70819156482, ~ P "

70819156483, © 1

70819156484, P/~ 4

Question Number : 66 Question Id : 70819117109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

~pA(pvq ), 2BTQ @I990R R 26E :
Options :
70819156481, ~ P ¥4

70819156482, ~ P "4



P
70819156483. ke

70819156484, P/~ 4

Question Number : 67 Question Id : 70819117110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A and B be 3 X3 real matrices such that A is symmetric matrix and B is skew-symmetric
matrix. Then the system of linear equations (A?B*— B%A2) X=0, where X is a 3x 1 column
matrix of unknown wvariables and O is a 3 x1 null matrix, has :

Options :

70819156485, 1O solution

70819156486, 2 wmique solution

70819156487 exactly two solutions

70819156488, I.t‘lfI.T‘lItEI}-' many solutions

Question Number : 67 Question Id : 70819117110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FERaR A 8 B @ 3x3 AIfQ candd A 9@ aafie AIgg @ B 9@ Gan aafie AIEY 26e |
606@ (AZB2-B2AZ) X =0, 9@Ie 92 AMead A7e :

(X 29l QIEfIRee 9@ 3x1 98 A8 8 O 9@ (3x1) g AE)

Options :

70819156485, ST 69 AAHIE G



Al 69T QaIe a1
70819156486.

70819156487, 0@ 4ES daie g

70819156488, =411 delitlie 88

Question Number : 68 Question Id : 70819117111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f(x) be a differentiable function defined on [0, 2] such that f'(x)=f"(2—x) for all
x e (0,2), f(0)=1and f(2)= e2. Then the value of Jf{x} dxis:

L1
Options :

a
70819156489, 1 €

2
70819156490, 1 T €

) x
70819156491, 21 +¢€%)

0 T R
70819156492, 21 €%

Question Number : 68 Question Id : 70819117111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



aeaaa [0, 2] 2IINER, f(x) TRFT UIRFRIE, 6LUAE f(x)=f(2-x), x € (0, 2), f(0)=1,
fR)=c? 6062 [f(x) dx @ gau 26E :
L]

Options :

7
70819156489, 1 €

2
70819156490, 1 T €

X
70819156491, 21 +¢€%)

e
70819156492, =1~ ¢7)

Question Number : 69 Question Id : 70819117112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f be a twice differentiable function defined on R such that f(0)=1, f'(0)=2 and

(x x
f(x) z0forallx e R. If f}x} il = 0, for all x £ R, then the value of f(1) lies in the
.. f {-1_} Illlruf-l_:' .
interval :
Options :
70819156493. £
70819156494. k%)

70819156495, (& %)



(9, 12)
70819156496.

Question Number : 69 Question Id : 70819117112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

QI9e Qe 626 R Q062 f 0ReF Q00Q 2999918, 6498 f(0)=1, f(0)=2 & f(x) 2 0,

1f@  fm

e @8 |0
f@ )

— 0, (x 9 QAL LY A AIG) 606 f(1) @ FARY QLA ZIRIFE :

Options :

©, 3)
70819156493.

3 &
70819156494. )

70819156495. (6 9)

(9, 12)
70819156496.

Question Number : 70 Question Id : 70819117113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the curve y= ax2+bx+c, x= R, passes through the point (1, 2) and the tangent line to this
curve at origin is y =x, then the possible values of a, b, c are :

Options :

70819156497, a=1, b=1,¢=0

70819156498, 2=1, b=0, c=1



70819156499 &= ~ 1, b=1,c=1

e .-b= ||1::='1

k3| =

1
70819156500. 2

Question Number : 70 Question Id : 70819117113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A@ y=axZ+bx+c, xe R GREQHIT (1, 2) @9 (12690 COREa 98° 9@ 9x608 96 A& Ag6a
AER9 ANRRE y=x 24, 6869 a, b, ¢ A A AR

Options :

70819156497, a=1, b=1, c=0

a:]_r b:-[]r C=l

70819156498.
70819156499 2= — 1, b=1,c=1
1 1
el b i M 1
2 2
70819156500.

Question Number : 71 Question Id : 70819117114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If n=2is a positive integer, then the sum of the series
e A A Tt A W i
Options :
n(n—1)(2n+1)
70819156501, 6




n(n + 1) (2n + 1)
b6

70819156502.

.11{211 +1)(3n +1)
b

70819156503.

.n{n I 'l]z(n + 2)
12

70819156504.

Question Number : 71 Question Id : 70819117114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Q8 n=2 99 YVUND °FY 29, 6069 m@ega'””C2+2FC2+:t2+'%g+nn+”fgj
Q {918 oR B6e :
Options :
n(n —1)(2n+1)
70819156501. 6

'n(n +1) (2n + 1)
6

70819156502.

.11{211 +1)(3n +1)

70819156503. 6

.n(n I 'l]z(n + 2)
12

70819156504.



Question Number : 72 Question Id : 70819117115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the system of linear equations :

x—2y=1, x—y+kz=—-2, ky+4z=6, ke R,

consider the following statements :

(A) The system has unique solution if k=2, k= —2.

(B) The system has unique solution if k = —2.

(C) The system has unique solution if k=2.

(D) The system has no-solution if k=2.

(E) The system has infinite number of solutions if k= —2.
Which of the following statements are correct ?
Options :

70819156505, ) and (D) only

70819156506, (4) and (E) only

(C) and (D) only
70819156507. i

70819156508, ) and (E) only

Question Number : 72 Question Id : 70819117115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



x—2y=1, x—y+kz= -2, ky+4z=6, ke R, 19019 9Maad QAL I8 A AL A89Fq 919

@a |

(A) QARG GLaa YRAIQ RIS A8 A% k22, kz -2

(B) QAIRQd ¢eea 9RA1g Qae 28 98 k= -2

(C) QMRed ¢eaa 9aalg dale 28 9§ k=2

(D) QRQE gEea YRAIg AaIe FF 9§ k=2

(E) Qaieed geea 2910 Qe aauie 218 9§ kz -2

FOAYe 6w AFGFe 90 e ?
Options :
70819156505, (A) 99° 6@9% (D)

70819156506, (&) 95" 6@9@ (L)

70819156507, (&) 997 689w (D)

70819156508, (D) 9" 6@ (L)

Question Number : 73 Question Id : 70819117116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f:R — R be defined as

55x, ifx<—5
f(x) = {2x°~ 32— 120z, if -5< x<4
23— 322 36x — 336, if x >4,

Let A = {x e R: fis increasing}. Then A is equal to :



Options :

70819156509, (— % —2) Y (& =)

70819156510, (—3 —4)u (4, =)

70819156511, (— ©» =) v (—4, =)

70819156512, (2 =)

Question Number : 73 Question Id : 70819117116 Question Type : MCQ Option Shuffling
Correct Marks : 4 Wrong Marks : 1

(16698 f'R - R 9908q
55x, gex < -5

f(x) = {223 - 322 120z, 98 —5< x <4 Q6a gRIG RIAISE |

273 — 3x%— 36x — 336, a8 x > 4.

UQITIR 626 A = {x e R: f IR Q9% T95} | 6969 696 A QAR :
Options :
70819156509, (— %, —5) U (4, =)

70819156510, (3, —4) v (4, =)

70819156511, (— ®» =9 v (—4, =)

70819156512, (2 =)

: Yes Is Question Mandatory : No



Question Number : 74 Question Id : 70819117117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

; 1 -1 V63
A possible value of tan( —sin ' —] is :
4 3

.,

Options :

70819156513, V7

70819156514.

70819156515.

70819156516, 2¥2 — 1

Question Number : 74 Question Id : 70819117117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1 J63
mn[—sm 1--]@»@?Qﬂ@wqmwa@@:
4 8 -

Options :

70819156513, ¥

70819156514.



Ji

70819156515.

70819156516, 2¥2 — 1

Question Number : 75 Question Id : 70819117118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The angle of elevation of a jet plane from a point A on the ground is 6(0°. After a flight of
20 seconds at the speed of 432 km/hour, the angle of elevation changes to 30°. If the jet
plane is flying at a constant height, then its height is :

Options :

70819156517, 36003 m

70819156518, 240083 m

70819156519, 1500V3 m

.
70819156520, | 2003 m

Question Number : 75 Question Id : 70819117118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

51096 U@ 686 AAIRa A TQ60 QERIFR 618 60° | 432 2.6 [ 94l g0 69660, 20 696RE QI8

060, RERIRT 6RIAa TRFIE 30°q YURUN | 98 EREEAIRT 9@ H49 0 Qo0lea QReld, 6964

PI2IQ Y99 QL6 6T :
Options :

70819156517, 36003 @



70819156518, 24004/3 @

70819156519, 18003 @

) ~
70819156520, 12003 @

Question Number : 76 Question Id : 70819117119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The vector equation of the plane passing through the intersection of the planes
;(; + } T ,I:] — 1 and ;(; 3 2}] — — 2, and the point (1, 0, 2) is :
Options :
r\3i+7+3k)=7
70819156521.

r\i+7j+3k)=7

70819156522,
r-li—7j+3k)=2
70819156523 3
rli+7j+3k)=2
70819156524 3

Question Number : 76 Question Id : 70819117119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



ar0® r-|j + j+ k) =199 2l 21] — _ 9 QU9 689 6 39 (1,0,2) 12699 96292
ANEREE QT8 ANRRET 2T :

Options :

r\3i+7]+3k)=7
70819156521,

r(i47543k)=7
70819156522,
— ('A

r-\i ?} I 3;’;]=

W~

70819156523.

=1

(i v7 j+3k)=

W~

70819156524.

Question Number : 77 Question Id : 70819117120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the statements p and g, consider the following compound statements :

(@) (~qAr(p—9q)—=~p

®) (Pvar~P)=q

Then which of the following statements is correct ?
Options :
70819156525. (a) is a tautology but not (b).

70819156526 (b) is a tautology but not (a).

70819156527, (a) and (b) both are tautologies.



70819156528, (@) and (b) both are not tautologies.

Question Number : 77 Question Id : 70819117120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@3 p 6 q U9 7¢ 6@ RETQ 99 @9 :

(@) (~ga(p—q))—~p

(b) (pvar-p)—q

6069 G760 29l 6R6 @@ | EqeR 0] ?

Options :

; 40 ~y 6 coEo o ) O 1]

20819156525, (@) 99 4993 (ceciemla) @2 (b) 96w

10819156526, ©) I8 9998 (G6CI6RIF) @ (a) 969

@)

a) 8 (b) Geldt 947G

70819156527. (@)

20819156528, (@) @ (D) @88 aeas Qoa

Question Number : 78 Question Id : 70819117121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
d
If a curve y=f(x) passes through the point (1, 2) and satisfies xi by = bx*, then for

62

what value of b, jf{x]dx = ? ?
1

Options :



70819156529.

70819156530.

70819156531, 2

70819156532.

Question Number : 78 Question Id : 70819117121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A3 caIf e a@easl y=f(x), (1, 2) 3@ FICPE CERER 99° x—2

]
o o 62
@69, 6669 b @ 696 gAY QIe jfTXde==?; :
1

Options :

70819156529. -

70819156530.

70819156531, 2

70819156532.



Question Number : 79 Question Id : 70819117122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The probability that two randomly selected subsets of the set {1, 2, 3, 4, 5} have exactly two
elements in their intersecton, is :
Options :
b5

70819156533, 2

70819156534. =

70819156535, =

70819156536.

Question Number : 79 Question Id : 70819117122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

6dS {1, 2 3,4, 5} g 0) Quf arIQd RU9ls &9 96 RUcdee gl T UMY
26G :
Options :

65

70819156533, 2



70819156534, <

70819156535.

35
A7
70819156536. =

Question Number : 80 Question Id : 70819117123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The area of the region : R = {(x, y) : 522 = y = 222+ 9} is :
Options :

3 squ it
70819156537, OV3 Square units

70819156538. 93 square units

10819156539, 11V/3 Square units

12 square units
J0819156540, 1293

Question Number : 80 Question Id : 70819117123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

R = {(x, y) : 522 < y < 222+ 9} 208 6AGR 6HGTR 266 :

Options :



70819156537, 63 96 @@

70819156538, 93 € 9a@

1143 96 W@e

70819156539.
70819156540, 12V3 98 @G

Mathematics Section B
Section Id : 708191681
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191961
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819117124 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the variance of 10 natural numbers 1, 1, 1, ..., 1, k is less than 10, then the maximum
possible valueof kis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 81 Question Id : 70819117124 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A8 10 61§ QQe @&l 1,1, 1, ..., 1,k @ 21@18d (9dad) 10 019 IR, 6962 k @ ARQ QUMY
clmy 216e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819117125 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let a point P be such that its distance from the point (5, 0) is thrice the distance of P from the
point (=5, 0). If the locus of the point P is a circle of radius r, then 4r? is equal to __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819117125 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
feraa P 9@ 990 99, 6uaad @9 (
P G398 9°9Ia 92 (6RIed) r NS

)

i
o

O

P @ @a6l, @ (—5,0) Olg P 9cia 3 g4 | 9
o

o
Q ) @9, 6069 412 @ ¢ 26e

,;z:n

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819117126 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the area of the triangle formed by the positive x-axis, the normal and the tangent to the
circle (x —2)*+ (y— 3)2=25 at the point (5, 7) is A, then 24 A is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819117126 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Q@ {x—zzﬂy—%?—:ﬁﬁ Q8 @ada @g (5, 7) 06a A= AR 6 AW 99° 4R (URINR)
x - 28 QR 298 W0 cAGTR A 949, 6069 4A QAR

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 84 Question Id : 70819117127 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ﬁ.]ll | (1| f\/’i]zl
o2

8 [1|f}.

Let:‘=ﬂ.1f{ e
(1- i)

55— = ks and n=[|k| ] be the greatest integral part

n+5 ’ n+53
of |k|. Then E(; + 5)° Z}(_} t5) isequalto .
= -

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 84 Question Id : 70819117127 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(~14 ;‘-ﬁ'}zl | (14 :\/?]2

ke - — = k 29, (= v-1) <& n=[[k[], (|K| & gd @& G n
(1- i) (1+ i)
nt5 ” n+hH
29) 6062, Y (j+5)" — D (j +5) @ fa IAIQ Z6T
7=0 7=0

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 85 Question Id : 70819117128 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The students 5y, S,, ...., 5y are to be divided into 3 groups A, B and C such that each group
has at least one student and the group C has at most 3 students. Then the total number of
possibilities of forming such groups is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 85 Question Id : 70819117128 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

QEeE 216 5., Sy, ..., 59 & A, B 8 C 969 3 60T R (g9)6a WG !

Q
QRER USAFIER @64 BIg 0P B @@ (g49) C 6o AGeden 3 @4 |18 9
GoR REFR AIEFIT ART T°HY 26T

2196 6UUGE geaie
P69 | 6669 1ah 9@
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 86 Question Id : 70819117129 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
n) ["C,, ifnzrz0

For integers n and r, let J_ : :
I 0, oltherwise

The maximum value of k for which the sum

*(10Y 15 ) k(12) 13
Z{} i Nk f+Z{} : e i1—; exists, is equal to :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 86 Question Id : 70819117129 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o y (11\" “Cr, Q@ n=2r=0
o A oL r :] A =
205 g4 Qe n 6 r UG A60R rJ A

| _ (10 15 L2y 1B
ko aoe a4 "JH; s Wk ,—Zﬁ i \Nk+1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

1

J o fala ong ode



Possible Answers :

5t05.001

Question Number : 87 Question Id : 70819117130 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ifata=1,b+p=2and af(x) 4 n_,f'(iJ = bx 4 E x # 0, then the value of the expression

X X
f(x) - ._r(l]
X/ is

X +—
X
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 87 Question Id : 70819117130 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. 1
i ] 8 fix) + 1 [—J
g9 a+a=1, b+pB=299° af(x) 4 rxf[—} = bx+ =, x#0, 6G6Q X/ @ Fla 2lee
x x 1
X +—
X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText
Possible Answers :
5to0 5.001

Question Number : 88 Question Id : 70819117131 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let A be an integer. If the shortest distance between the lines x —A=2y—1= —2z and
o
e N :
x=y+2h=z—Ais —  thenthe value of |[A\|1s .,
242

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 88 Question Id : 70819117131 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AeR@a A 9@ g4l | 9@ x—A=2y—1=-2z B x=y+2A=z—\ 6QQIQQ (RIER AIRY

s V7
TASLT
=8 52

Response Type : Numeric

R

g, 6U6Q [A| & €)W 26t

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 89 Question Id : 70819117132 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The sum of first four terms of a geometric progression (G.P.) is 12 and the sum of their

respective reciprocals is Ty [f the product of first three terms of the G.P. is 1, and the third

lerm is «, then 2« is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 89 Question Id : 70819117132 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

= FR 2 e £ R i
6EITY gedlan deael (6841) @ gad QIfead aeq 9ad E, Je° 64y UYe@e Yuemie!l

_ 65 = s
Huellawe Q| E 2ot | dv @m Gedins gelolal gafl ¢wetllc dua gddn 1 26T 99° ¢ould
A9 a @4, 6969 2a 266

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 90 Question Id : 70819117133 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

27
The number of the real roots of the equation (x +1)%+|x—5|= =y is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 90 Question Id : 70819117133 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

g QM9 QRAINEE d°el 26

g
w3

aneed (x+1)2+|x—5|=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



